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Glaring disconnect

THE National Education Policy (NEP) lays stress on interactive teaching and learning instead of rote
memorisation so that the knowledge acquired in the classroom can be applied to real-life situations.
The focus is supposed to be on preparing the student to face the world with confidence. How much
progress has been made on this front in recent years? A study co-authored by Nobel laureates Abhijit
Banerjee and Esther Duflo shows that being good at mathematics on the go, as witnessed in Indian
kids working in the marketplace, does not often translate into classroom arithmetic, and vice versa.
Simply put, there is a big gap between intuitive and formal styles of learning that needs to be bridged
by fine-tuning the curriculum.

Mastering mathematics is a challenge for schoolchildren from low-income backgrounds worldwide,
and India is no exception. Poverty and deprivation force millions of families across the country to
make their kids — mostly those who have never been to school — do odd jobs, such as working as
street vendors. According to the study, such children can do complex calculations in seconds, and that
too unaided, but find it hard to deal with simpler abstract maths taught in schools. Their schoolgoing
peers excel at academic maths but fail at basic real-world calculations.

The Annual Status of Education Report (ASER) 2024 shows that arithmetic levels of children in the age
group of 6-14 years have improved in government as well as private schools. This is a good sign, but it
is no less important to encourage kids to go beyond textbooks and hone their skills in practical
calculations. Such an approach can go a long way in ensuring successful implementation of the NEP. It
can also help in improving the students’ employability and competency by making them street-smart
rather than mere bookworms or exam warriors. A skilled workforce is a prerequisite for boosting

India’s socioeconomic growth. |[Practice Exercise]‘

® Red/blue coloring of words in the sentence indicates subject verb relationship; where ‘red’
denotes ‘subject’ and ‘blue’ denotes ‘verb’.
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10.

Vocabulary
11.

Glaring (adjective) — Obvious, evident,
conspicuous, striking, blatant TIC, YcT&T

Lay stress on (phrase) — Emphasize,
highlight, underscore, accentuate, focus on

SR =T

Rote memorisation (noun) —a learning
technique that involves repeating
information until it is remembered. It's a
traditional teaching method that's been

used for centuries I&T TITAT

Front (noun) — Aspect, side, field, sphere,

realm &9

Laureate (noun) — Award winner, honoree,
prize winner, recipient, decorated

individual g((—dgd cafad

Witness (verb) — Observe, see, notice,
watch, experience agaT

Intuitive (adjective) — Instinctive, inherent,

innate, natural, subconscious Hgal

Fine-tune (verb) — Adjust, refine, modify,

tweak, polish HO‘EIIIIFII

Curriculum (noun) — Course of study,
syllabus, academic program, educational

framework, learning plan 9YTodshH

Poverty (noun) — Destitution, penury,
indigence, neediness, economic hardship

IR

12.

13.

14.

15.

16.

17.

18.

19.

20.

Deprivation (noun) — Hardship, scarcity,
lack, want, deficit 3IHTT

Vendor (noun) — Seller, trader, merchant,

hawker, retailer faghdr

Unaided (adjective) — Unassisted,
unsupported, independent, unhelped,

alone TS=IT GgIdT &

Deal with (phrasal verb) — Handle,
manage, tackle, address, cope with ATHAT

Tl

Peer (noun) — Equal, fellow, contemporary,
match, colleague HHRET

Excel (verb) — Outperform, surpass, shine,
be outstanding, stand out W%@m

AT

Encourage (verb) — Motivate, inspire,
support, stimulate, foster AcTTg o hal

Hone (verb) — Sharpen, refine, improve,

polish, cultivate [F@R=T

Go a long way (phrase) — Be very helpful,
have a significant impact, contribute

greatly, matter a lot, serve well Elg?fﬂa_c\"
hIAT

Employability (noun) — Job-readiness,
workability, suitability for work, capability

for employment, hireability IISTITR Fr
&THAT
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21. Competency (noun) — Skill, proficiency,

capability, expertise, mastery G&TdTl

22. Street-smart (noun) — Practical intelligence
or resourcefulness in dealing with
everyday challenges, especially in an urban

setting. UGN TRAY H ATAgTR g a1
)

23. Mere (adjective) — Only, just, solely, barely,
nothing more than Shdael

24.

25.

26.

Bookworm (noun) — Avid reader,
bibliophile, reading enthusiast, literary

devotee, reading buffwm

Prerequisite (noun) — Requirement,
precondition, necessity, essential, must-

have q«Trﬁ'q&:IT

Socioeconomic (adjective) — Relating to
society and economy, social-economic,
financial-social, socio-financial, social-

economic context TTHTTTR-3TTH
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10.

11.

12.

13.

14.

15.

Summary of the Editorial
NEP's Focus on Practical Learning — The National Education Policy (NEP) emphasizes
interactive learning over rote memorization to help students apply knowledge in real life.
Bridging the Knowledge Gap — The goal is to prepare students for the real world with
confidence, but progress in this direction remains questionable.
Study by Nobel Laureates — A study by Abhijit Banerjee and Esther Duflo highlights a
significant disconnect between intuitive learning (real-world calculations) and formal
education (classroom arithmetic).
Market vs. Classroom Arithmetic — Indian children working in markets display quick
mental math skills but struggle with academic arithmetic, while schoolchildren perform
well in abstract maths but fail in real-world calculations.
Global Challenge in Mathematics Learning — Children from low-income backgrounds
worldwide, including India, face difficulties in mastering mathematics due to poverty and
lack of formal education.
Role of Economic Hardship — Many children in poor families are forced to work, gaining
real-life arithmetic skills but lacking formal education.
Contrast in Learning Abilities — Non-school-going children develop complex calculation
skills through necessity, whereas school students learn theoretical maths but lack practical
application.
ASER 2024 Report Findings — The Annual Status of Education Report (ASER) 2024 indicates
improvement in arithmetic levels among 6-14-year-olds in both government and private
schools.
Need for Practical Application — While academic progress is a positive sign, it is equally
important to integrate real-world problem-solving into the curriculum.
Beyond Textbook Learning — Encouraging students to engage in practical calculations will
enhance their cognitive abilities and overall learning experience.
Aligning Education with Employability — Education should focus on making students
employable by developing real-world skills rather than just theoretical knowledge.
Reducing Dependence on Rote Learning — Moving away from memorization and
encouraging critical thinking can help bridge the gap between school education and real-
life applications.
Preparing Students for the Job Market — A balanced education system should focus on
creating street-smart individuals rather than exam-oriented learners.
Skilled Workforce for Economic Growth — Developing a practically skilled workforce is
essential for enhancing India's socioeconomic development.
Successful Implementation of NEP — For the NEP to be truly effective, a curriculum
overhaul is needed to integrate formal education with practical learning, ensuring holistic
development.
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Practice Exercise: SSC Pattern Based
1. What is the tone of the passage? ‘[Editorial page]‘
A. Analytical
B. Pessimistic

C. Humorous
D. Indifferent
2. From the passage, what can be inferred about the difference between children doing
calculations in the marketplace and those doing classroom arithmetic?
A. Poverty makes children naturally more intelligent at maths.
B. Real-life practice fosters strong mental calculation skills, but abstract classroom maths
remains challenging.
C. The formal school curriculum perfectly aligns with real-world numeracy skills.
D. Children from low-income families have no interest in academic maths.
3. According to the passage, why is bridging the gap between intuitive and formal styles of
learning crucial for India’s socioeconomic growth?
A. It ensures students score well in exams.
B. It reduces the cost of implementing the new education policy.
C. Itinstantly eradicates poverty among families.
D. It helps develop a skilled workforce that can handle both practical and academic
challenges.
4. What is the antonym of the word "deprivation" as used in the passage?
A. Abundance

B. Scarcity
C. Shortage
D. Deficiency

5. What does the "bookworm" mean in the context of the passage?
A. A person who studies excessively but lacks practical knowledge
B. A person who loves reading novels and poetry
C. Ateacher who encourages interactive learning
D. Astudent who is good at mathematics
6. Select the most appropriate option to substitute the underlined segment in the given

sentence.
Heba dropped of the club unexpectedly to say hello and catch up.

A. dropped besides the club unexpectedly
dropped for the club unexpectedly
C. dropped between the club unexpectedly
D. dropped by the club unexpectedly
7. Select the most appropriate option to fill in the blank.
we gave them was some homemade ice cream

@
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Which
While
When
. What
8. Select the most appropriate synonym of the underlined word.
Her austere lifestyle reflected her minimalist approach to living.
A. Happy
B. Sombre
C. Luxurious
D. Giddy
9. Select the option that correctly rectifies the underlined spelling error in the given sentence.
Women and children were often employed in the textile industry during the first centuary of

oo ®p

industrialisation.

A. centurie
B. centuari
C. century

D. centuarie
10. Select the option that rectifies the spelling error in the following sentence.
In his persuit of excellence, he forgot to take care of his health
A. pursuit
B. persoot
C. persuite
D. Pursuite
11. Select the most appropriate option to fill in the blank.
The rising interest in and concern about animal welfare resulted in legislative laws and the
formation of The Animal Committee in many nations
A. Customs
B. Considers
C. Ethics
D. Resistant
12. Select the most appropriate ANTONYM of the underlined word.
You seem to be mean to your seniors
A. apathetic
B. rude
C. sympathetic
D. modest
13. Select the most appropriate ANTONYM of the underlined word in the given sentence.
Although our new boss knew he was wrong, he was too obstinate to accept that
A. Flexible
B. Adamant
C. Competent
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14.

15.

16.

17.

18.

19.

D. Fearless

Identify the word that can replace the INCORRECTLY spelt word in the given sentence.

The explorer discovered a hiddden cave deep in the heart of the jungle

A. hiddenn

B. hiddeen

C. hidden

D. hiden

The following sentence has been divided into parts. One of them may contain an error. Select
the part that contains the error from the given options. If you don’t find any error, mark ‘No
error’ as your answetr.

Sam and Teena / had wondering / what to do this weekend.

A. what to do this weekend

B. no error

C. had wondering

D. sam and Teena

The following sentence has been split into four segments. Identify the segment that contains
a grammatical error.

The sky is covering / with dark clouds and / | hope soon it / will begin to rain

A. ihope soon it

B. the sky is covering

C. with dark clouds and

D. will begin to rain

The given sentence is divided into three segments. Select the option that has the segment
with a grammatical error. If there is no error, select ‘No error’.

The committee has careful / considered the report which you sent us / and has decided to take
action.

A. considered the report which you sent us

B. The committee has careful

C. and has decided to take action.

D. no error

Select the most appropriate ANTONYM of the given word.

Procrastination

A. Eagerness

B. Timidness

C. Hawing

D. Hesitance

The following sentence has been divided into parts. One of them may contain an error. Select
the part that contains the error from the given options. If you don’t find any error, mark ‘No
error’ as your answetr.

This is the best novel / | have read, / in a very long time.

A. Inaverylongtime
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B. Ihave read
C. This is the best novel
D. No error

20.In the following sentence the underlined part contains as error. Alternatives to the
underlined part are given as options. Select the correct alternative.
He was studying in the dimmer light
A. most dim
B. dim
C. dimmest
D. more dim
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Language is a powerful device that (1) communication and interaction between
individuals. It serves as a crucial tool for expressing thoughts, emotions, and ideas.
(2) richness of language can be observed in various forms, including spoken and
written interaction. People employ language to convey their intentions, share knowledge, and
build relationships. It is a fundamental aspect of human interaction and plays a vital role in
shaping societies and cultures. Without language, cooperation would be (3) ,as it
serves as the foundation for collaboration and understanding among diverse communities.
Furthermore, language is dynamic and stationary, evolving over time to adapt to changing
environments. New words are (4) into the vocabulary, reflecting advancements
in technology, science and culture. The ability to modify and adapt language is a key aspect of
linguistic competence. (5) , the importance of language cannot be

underestimated. It is a fundamental tool for human expression and interaction, facilitating the
exchange of ideas and the formation of connections among people.
21. Select the most appropriate option to fill in blank number 1.

A. delays
B. experiences
C. qualifies

D. facilitates
22. Select the most appropriate option to fill in blank number 2.
A. A
B. An
C. The
D. No article
23. Select the most appropriate option to fill in blank number 3.
A. challenges
B. challenge
C. challenger
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D. challenging
24. Select the most appropriate option to fill in blank number 4.
A. integrity
B. integration
C. integral
D. integrated
25. Select the most appropriate option to fill in blank number 5
A. In conclusive
B. Inany case
C. Inorderto
D. In spite of
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Answers

1. A 2.B 3.0 4.A 5.A 6.D 7.D 8.B 9.C 10LA 11.C

12. C 13.A 14C 15C 16B 17B 18A 19D 20B 21D 22.C

23.D 24D 25.B [Practice Exercise]
Explanations

1. A) Analytical
The passage critically examines the gap between intuitive and formal learning, presents
research findings, and suggests solutions, making it analytical in tone.
B) Pessimistic: While the passage highlights issues in education, it also discusses improvements
and solutions, making it more constructive rather than negative.
C) Humorous: There is no humor or lightheartedness in the passage; it maintains a serious and
factual tone.
D) Indifferent: The passage shows concern for improving education and suggests solutions,
which contradicts an indifferent or apathetic tone.

2. B) Real-life practice fosters strong mental calculation skills, but abstract classroom maths
remains challenging.
The passage shows that children who work as street vendors can do complex mental
calculations but struggle with simpler classroom arithmetic. This suggests that practical, real-
life practice fosters certain calculation skills that do not necessarily translate into academic
performance.
A: The passage does not conclude that poverty increases intelligence, but rather that it
compels children to learn specific real-world math skills out of necessity.
C: The passage notes a gap — not alignment — between real-world calculations and formal
classroom learning.
D: There is no evidence that low-income children lack interest in maths; the difficulty is in
bridging practical and formal methods, not motivation.

3. D) It helps develop a skilled workforce that can handle both practical and academic
challenges
The passage highlights that combining real-world skills with formal education can enhance
students’ employability and competency. A workforce proficient in both practical and academic
skills supports socioeconomic progress.
A: While exam performance is mentioned, the main emphasis is on real-world application, not
just test scores.
C: Bridging the gap does not immediately eliminate poverty; it focuses on long-term skill
development.
B: The passage does not discuss reducing policy implementation costs, but rather enhancing
quality and relevance of education.

4. A) Abundance
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Abundance (A) is the correct answer because "deprivation" refers to a state of lacking
something essential (like food, education, or resources), whereas "abundance" means having
plenty or more than enough.

5. A) A person who studies excessively but lacks practical knowledge
A person who studies excessively but lacks practical knowledge is correct because the passage
mentions that students should be street-smart rather than just "bookworms," implying that
mere academic knowledge without practical application is not ideal.
B) A person who loves reading novels and poetry is incorrect because while "bookworm" can
refer to someone who reads a lot, in the given context, it implies excessive academic focus
without real-world application.
C) A teacher who encourages interactive learning is incorrect because the passage contrasts
bookworms with the need for real-world skills, and bookworms are not described as
interactive teachers.
D) A student who is good at mathematics is incorrect because the bookworm refers to general
excessive academic studying rather than specifically excelling in mathematics.

6. D) ‘dropped by the club unexpectedly' &l use HEr gIam FIifeh 'drop by' Teh Phrasal Verb %’
foraenT 3791 & Forarent 31< gaT € fonelt & feter a1 gl o1t & folw 3raretes 3R 3fiaaie §9
 3TAT| I T TedT I & T Heba o Fold IR 3TIRITH &1 ST 31fAares forar 3R sta<ia
&I 37d: 'dropped by the club unexpectedly' T8l 3caX g

‘dropped by the club unexpectedly' is the correct choice because 'drop by' is a phrasal verb

meaning 'to visit a place briefly and informally.' The sentence implies that Heba visited the club
unexpectedly to say hello and catch up. Hence, 'dropped by the club unexpectedly' fits the
context accurately.

7. D) 'What' & use 81T Fifeh "what" T 3727 gIaT & "9 et S 3R ITg a1 o araat H1aN ahr
SSdT &1 AT H homemade ice cream <'=F’fspecify WTW%@HEEG‘%T%%GIT@[TI?%W
3gfoIT, 'What' TEY 3caR &1 'Which' 3T 37 & "shla-ar" 31K I8 fAshenl &' specify ¥ & ToIT
WT@?IT%’, ST TET context ffﬂﬁ%’l 'While' EI?FHﬁ%' "SfR" 3-ﬁT2I'fa' comparison IT AT
& forT 3uAler grar §, St 8T GET 181 § | 'When' &1 3 § "&ha" 3R Ig AT 1 g2 & falw
31T BT &, Aifehe] a9 §A Y § Hafid o781 ¢

'What' will be used because it means "the thing which" and connects the two parts of the

sentence. The sentence specifies homemade ice cream as the thing that was given, making
'What' appropriate. 'Which' means "which one" and is used to specify a choice, which isn’t
relevant here. 'While' means "whereas" or "during," which is used for comparison or time, and
doesn’t fit here. 'When' refers to "time," but the sentence isn’t discussing time.
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8. B) Austere (adjective) — Severe, strict, plain, or simple in manner, attitude, or lifestyle. d,

Hrgafqor

a

Synonym: Sombre (adjective) — Serious, solemn, plain, or subdued. 3T, ATe]
e Happy (adjective) — Feeling or showing pleasure or contentment; joyful. I8eoT

e Luxurious (adjective) — Characterized by grandeur, comfort, or extravagance. #cd,

IERUEGIEN

N
e Giddy (adjective) — Lighthearted, dizzy, or frivolous. 37TE2R, Tl

9. C) The correct spelling of ‘centuary’ is ‘century’, which means “a period of one hundred years”
.

10. A) The correct spelling of the word ‘persuit’ is ‘pursuit’, which means “the act of chasing or
striving to achieve something” (o1& ITCd &hial oh TolT GTST ShiadT AT TATH hialT)

11. C) 'Ethics' ohT use a’lvrrara’lﬁ: "ethics" ﬂﬁﬁ%ﬁﬁ?@@ﬁﬁ@%ﬁm%ﬂq
SER] SIdgR &l GRIEGEZGII %’I 2IIET sentence & 'animal welfare' 31T 'legislative laws' @bl
3cold g, ST AATdehdl & FEIT &1 STV 'ethics’ LT 3caX &1 'Customs' &7 37T & {fa-Rarsr
JT WU, ST SH context p= 3CI'{I,;3=H Tar %‘;I 'Considers' T 37 %’ T T, S ITed %’I
'Resistant'aﬂﬂﬁ%ﬁmmm, EITEIETanimaI welfare IT laws & Hel oAgT QT

Ethics' will be used because "ethics" refers to a set of moral principles governing behavior in a

specific area. The sentence talks about 'animal welfare' and 'legislative laws," which are directly
related to ethics. 'Customs' means traditions or practices, which do not align with the context.
'Considers' means to think about, which is grammatically and contextually incorrect here.
'Resistant’ means opposing or resistant to something, which does not fit the subject of animal
welfare or laws.

12. C) Mean (adjective) — Unkind, cruel, ungenerous, unpleasant. oY, 3-1?@1’, HAdaT
Antonym: Sympathetic (adjective) — Showing understanding and care, compassionate, kind-

hearted. mﬂﬂﬁ%ﬁﬁ, Eﬂl@f
e Apathetic (adjective) — Indifferent, showing no emotion or interest. 3&1dIs, ﬁ?:q‘_'e»'
e Rude (adjective) — Impolite, disrespectful, offensive. 3THF, 3G
e Modest (adjective) — Humble, unassuming, not boastful. T, ATaIRoT

13. A) Obstinate (adjective) — Stubbornly refusing to change one’s opinion or chosen course of

action, despite attempts to persuade one to do so. AR
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14.

15.

16.

17.

18.

Antonym: Flexible (adjective) — Willing to change or adapt; open-minded and accommodating.
e, aRkadereiier
e Adamant (adjective): Refusing to be persuaded or to change one’s mind; unyielding,
inflexible. H%?T, TG
e Competent (adjective): Having the necessary ability, knowledge, or skill to do

something successfully. H&TH

e Fearless (adjective): Lacking fear, brave, courageous. @33
C) The correct spelling of the INCORRECTLY spelt word ‘hiddden’ is ‘hidden’. means “kept out
of sight; concealed” %TCIT'g'&lT, |

C) ‘had wondering' T use ITeld § FiTeh 'had' & STE verb T past participle TR fHAT SATAT
&1 'wondering' present participle &, STaf 'wondered' past participle & | 37d: TgI aTFg gI9M:

Sam and Teena had wondered what to do this weekend.

The phrase 'had wondering' is incorrect because the verb "had" should be followed by the past
participle form of the main verb. Instead of 'had wondering', it should be 'had wondered' to
form the correct past perfect tense. Let's explain this in detail: Sam and Teena had wondered
what to do this weekend.

B) 'is covering' & d&o 'is covered' FT T I FAifoh TGT Passive Voice T TN &loTT AR T
"The sky" T $& T8 X TET 8, 9Tesh 38 dark clouds & T ST T & | 3cT: HeY AT gMT—

"The sky is covered with dark clouds."

'is covering' should be replaced with 'is covered' because the sentence requires the passive
voice. "The sky" is not performing the action but is being acted upon (covered by dark clouds).
Therefore, the correct sentence is— "The sky is covered with dark clouds.

B) 'careful' FHacol ‘carefully’ Wmﬁ?ﬁﬁﬁ?wwverb 'considered' 3T modify A & foIT
adverb 'carefully’ CARICEDE TSI %I 'Careful' TUeh adjective %, ST noun 3T pronoun I modify

hdl %’, i 'carefully' TUdh adverb %, ST verb &1 modify WFIT%I 3Ad: FI?T W@?ﬂ— "The

committee has carefully considered the report which you sent us.".

'‘careful' should be replaced with ‘carefully’ because the word is modifying the verb
'‘considered,' and an adverb is required to modify a verb. 'Careful' is an adjective, which
modifies a noun or pronoun, while ‘carefully' is an adverb, which modifies a verb. Therefore,
the correct sentence is— "The committee has carefully considered the report which you sent

us.".
A) Procrastination (noun) — The action of delaying or postponing something, putting off tasks

intentionally or habitually. 3Tl &, e[
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19.

20.

21.

Antonym: Eagerness (noun) — Enthusiastic willingness or readiness to do something promptly.

3cdlg, dcUdl

e Timidness — Incorrect. Timidness (noun) means lack of courage or confidence, shyness.
Uy, BT

e Hawing — Incorrect. Hawing (noun) refers to hesitating or being indecisive in speech or

actions. fgaferarge, st

e Hesitance — Incorrect. Hesitance (noun) means reluctance or unwillingness to act.

feaferage, g
D) No error

arerg H "This is the best novel" Present Tense H &, 31 "I have read" &T WI14T (Present Perfect
Tense & Ter %} Faifn g fordT fohar ot IAHTT effect g2ATdT %I "in a very long time" HHI
AT 1 ST AT &, Afohed STRT AT TE 7181 & o verb past 7 €1 glell AR T

There is no error in the sentence. The sentence uses the Present Perfect Tense ("l have read")
correctly, as it describes an action completed in the past with relevance to the present
moment. The phrase "in a very long time" indicates the duration since a comparable event
occurred but does not necessitate the use of the Past Tense.

B) 'dimmer’ & dcof 'dim' T use E'.’ITITW% 'dim' Ueh Adjective %ﬁﬁ@mﬂ'@fﬁ@%’,
314'%!'5 Comparative Degree (dimmer) I AT Tg &, Comparative degree 3T 39JNT A
BIT & ST &F Tail & sl JolelT T STl & | offehet 38 aTerd & ahdel FehIeT (light) T FEufa s
guie fRar arar g, 31a: positive degree ('dim') 3T ST &I g1

The sentence uses the word "dimmer," which is in the comparative degree. Comparative
degree is used when there is a comparison between two things. However, the sentence merely
describes the quality of the light without any comparison. Hence, the positive degree ("dim") is
correct.

D) Facilitates T use B9 Fiifeh SHRT Y GIcTT § "GIH FoAlT" AT "GALT FeTel Har|"
sentence # mention %%WWQWQWW%?W%@HHHN IR garg &r
TETH T §| 36 HEeT H, "facilitates” ST § FiTeh TG SN AT & fob 79T HaIR 3R
37T &Y T 3T 9Tt 91T &1 ST Delays &1 31T § ") 3aT," S TgT TeY A8 &
W%wwﬁeuwmaﬁgl Experiences EFFB-R&'%’ "agraqa'm," GITEQTWS&JET
e 8T SodT & Fifeh Tg TR T &TH el & TGH H oTgT 3TdT| Qualifies &7 31T § "I
AT, " Aot T a1 & Y o TSI S ¢
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22.

23.

Facilitates is the correct choice because it means "to make something easier or enable it." The
sentence describes how language is a powerful tool that enables communication and
interaction between individuals. Hence, "facilitates" fits perfectly as it highlights the role of
language in simplifying and enabling communication. Whereas: Delays means "to postpone or

slow down," which contradicts the context as language does not obstruct communication.
Experiences means "to encounter or undergo," which is irrelevant in the context of enabling
communication.

Qualifies means "to make eligible," which does not align with the idea of enabling or
simplifying communication.

C) The' &T use AT Fifeh "The" &7 37 81T § HAT faAw a7 [AfIse et =1 e T8t
"richness of language" éﬁa'rhframﬁmré‘r%", m%wﬁﬁwm%l gaﬁltr '"The'
TET T ¥ ST ‘A" T 37 g § R 31T Raa e 1 g=ifeT, 'An' T 3T TR et &
& Bl ATel Areal & fT grar |

The' will be used because it emphasizes something specific or unique. The phrase "richness of
language" refers to a specific richness being discussed, making "the" suitable here. Whereas,
'A' refers to something general, 'An' is used before vowel sounds but doesn’t fit the context.

D) Challenging' 3T use BI31T &Fifeh "challenging”" T adjective &, Torger 3719 § fdeT T
demanding| Sentence H Ig FATAT IT g T T9AT HTYT &, JEIRT AT ST AT W
8I9TT| Adjective 'challenging' J&T "would be" & ST appropriately 391eT 8T § FAiTsh T§
TEIT & TIHTT &I describe T el %’I 'Challenge' (noun) T 39T Il %’ FIifh qg
sentence @ structure o T fit FI?[?IFIT%’I EIET adjective EIT%Q’ET cooperation T describe T
b | 'Challenges' (plural noun) 3T 39T ITeld & Fifeh Tg grammatically sentence & singular
structure & Hof oTT @IdT| 'Challenger' (noun) WWW%H@%WHQ?%W&I’%
ETW&HT%’, ST contextually GgT gl g |

'Challenging' will be used because it is an adjective meaning difficult or demanding. The
sentence implies that without language, cooperation would become difficult, making
‘challenging' an apt choice. 'Challenge' (noun) doesn’t fit the structure. 'Challenges' (plural
noun) is grammatically incorrect here. 'Challenger' (person posing a challenge) is irrelevant in
this context. Challenge' (noun) is incorrect because the sentence structure requires an
adjective to describe the nature of cooperation. 'Challenges' (plural noun) is also incorrect as it
doesn’t fit grammatically with the singular structure of "would be." 'Challenger' (noun) is
incorrect as it refers to a person who poses a challenge, which is irrelevant in this context.
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24. D) Integrated' T use Ter €I3II FIifh ZIE'T sentence H mention % G vocabulary H AT Uuse

25.

A (integrated) ThT ST gl "Integrated" T 37 grar § "gAEfgd ST v sigarn”
sentence T TEH TE & T HINT THT & 1Y ARTAT gt §, 3R 75 depeiiani, faaet 3R
TEHTT & A Y &2 F AT AT 2reg NS A &1 "Integrity” T 37 § "SAGTERY "ar
"G AT, ﬁsﬂﬁaﬁﬁ'ﬁwa’l g Tch noun a' 3-ﬁT?3I€Tuverb $T 3TaeTSdr %’I "Integration”
T 37 § "THIHIOT," S BT noun g | TG ITFT H SITHLT & JTAR e 18T d&dT| "Integral"
FT Y %’ "fauTeT feear,” ki g adjective a'l ?J%TU g H passive structure & T verb
gy, o b adjective |

'Integrated' will be used because it means "to combine or include something as part of a

whole." The sentence refers to new words being included in the vocabulary to reflect
advancements in technology, science, and culture. The context clearly requires a past participle
verb in passive voice, which is why 'Integrated' is the most appropriate choice. Integrity means
honesty or unity, which doesn't fit the sentence grammatically or contextually. Integration is a
noun referring to the process of combining, which is unsuitable here as the sentence demands
a verb in passive form Integral is an adjective, which does not align with the grammatical
requirement of the sentence

B) 'In any case' &bl use WWWWW$W'€@ Connector %’ GIT?T&'E\"‘\’I‘IFIT%’
3 3TTYT ST FAGCT S 8T 37TehT ST hdT| Passage F mention & T 19T &l Agca 3ARERT &
B-ﬁTsﬁch:H Hh H‘E?f&iqol ST HehdT, EQT%I'U 'In any case' maﬁrﬁwé&n% 'In conclusive'
HEY 8T & 'conclusive' T HET use 'in conclusion' & & F fHAT SITAT§ 11 'In order to' & 37T ¢
TR 32T I TFT FIAT, S TgT ATFT & 1Y & AT g GidTl 'In spite of' T 3TAET
faRrermstr & foT fhar SITe 8, ST s@ AT A WEI A6 &

In any case' will be used because it is the correct connector to conclude, emphasizing that the

importance of language cannot be underestimated. The passage highlights that the
importance of language cannot be underestimated, making 'In any case' the most suitable
option. 'In conclusive' is incorrect as it is not a valid phrase and does not fit the context. 'In
order to' means to express purpose, which does not align with the context of concluding a
statement. 'In spite of' implies contradiction, which is inappropriate here.

Join us on Telegram channel: English Madhyam, Email Id: Support@englishmadhyam.in
Website: www.englishmadhyam.info, Phone number: 7722987077 Page 16




JOIN TELEGRAM CHANNEL: ENGLISH MADHYAM

No holds barred: The Hindu

Learn
<4 K Vocabula ry
* Through
Reading

- Articles

Just in case: The Hindu
(Aug-12-2022)

Premium

English Madhyam

One word Substitution: 01

Material Practice Feed

Join us on Telegram channel: English Madhyam, Email Id: Support@englishmadhyam.in
Website: www.englishmadhyam.info, Phone number: 7722987077 Page 17



https://play.google.com/store/apps/details?id=com.education.english_madhyam

